Level: 1% year.

Groups: All groups

Linguistics:

Task One:

a- Arbitrariness.
b- Displacement. (1pt)

Answer Key

(1pt)

Course: Ling&Phon
Year: 2024/2025

c- Cultural Transmission.  (1pt)
d- Duality. (1pt)
Task Two:
a- Bookworm: Exocentric, noun compound  0.25+0.25=0.5
b- Handshake: Endocentric, noun compound 0.25+0.25=0.5
c- Swordfish: Endocentric, noun compound  0.25+0.25=0.5
d- Sunflower: Endocentric, noun compound  0.25+0.25=0.5
Task Three:
Base Inflection Derivation Base Inflection Derivation
Word Word
Play Several answers | Several answers | Teach Several answers | Several answers
are accepted are accepted are accepted are accepted
Happy Several answers | Several answers | Friend Several answers | Several answers
are accepted are accepted are accepted are accepted

0.25 for each correct answer = (2 Pts) total

Task Four: phonetics- semantics- sociolinguistics- syntax

Micro linguistics

Macro linguistics

Phonetics, semantics, syntax

sociolinguistics

0.5 each = (2pts) Total




Phonetics:
Task 1: 1 each = (6pts)

PIAHEPRVE

d./a/

d. none of the above
a. closing diphthongs
C. inner ear

d. none of the above
b. Velum

Task 2: 0.5 each= (4 pts)

ONoa~wWNE

bait - /er/

lower - /ou/ /o/
shapeless - /e1/ /a/
boil - /o1/

lake - /e1r/

seed - /i:/

lit- v/

curl - /3:/




